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7. (a) Sketch a flexible coupling that could be used for a main propulsion drive. o)
(b)  State THREE reasons for using a flexible coupling in propulsion drives. (3

8. (a) Explain how propeller thrust is transmitted to a vessel's hull. 3)
(b)  Describe the mounting arrangements of a thrust block to the hull. “4)

(¢)  Explain why the clearance between the thrust block pads and collar is critical. (3)

9. Sketch a Direct-On-Line starter for a small, three phase, a.c. motor, labelling all
components. (10)

10. (a) State the requirements for connnecti (3)
(b)  Sketch a connection diagram -
should occur. i 5)
(c)  State what occurs if synchr :
I (0]

(d)  State the possible conseq

4 o
I. Sketch a cross-section thro

labelli ugh a valve sujap) ’
ing ALL parts and Stating a suitable marefi:;};ul:'sga:‘zl?; ]::?:“lmg valve in a fire main,
: (10) -

Cross-Section of a Fire Main Isolating Valve (Gate Valve)

A gate valve is a suitable choice for isolating sections of a fire main due to its positive shut-off and
low-pressure drop characteristics. Here's a breakdown of its key components in a cross-section,
along with suggested materials:

e Valve Body: The main housing that encloses all internal components. It should be made of
high-strength material to withstand high water pressure in fire main systems.

o Suitable Material: Cast Iron (Ductile Iron or Nodular Iron) - Ductile iron offers a good
balance between strength and ductility, making it resistant to high pressures and
potential shock loads.

e Gate: A movable wedge-shaped disc that slides vertically within the body to control flow.

o Suitable Material: Cast Steel or Stainless Steel - These materials provide excellent
strength and corrosion resistance, ensuring reliable operation in saltwater
environments. Some fire main gate valves may use bronze for the gate due to its good
wear resistance and sealing properties.
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e Seat Rings: Sealing surfaces within the body that the gate comes in contact with to form a

tight closure.
o Suitable Material: Bronze or Nickel-Alloy - These materials offer good wear
resistance and corrosion resistance, ensuring a leak-proof seal when the gate is closed.
e Spindle: The shaft connected to the gate, used for manual or actuated control of the gate's
position.
o Suitable Material: Stainless Steel - This material offers high strength and corrosion
resistance, ensuring smooth operation of the gate and resisting saltwater corrosion.
e Packing: Sealing material around the spindle to prevent water leakage along the shaft.
o Suitable Material: Graphite or PTFE (Teflon) - These materials provide good sealing
properties and are relatively resistant to wear and tear.
e Bonnet (Optional): A bolted or screwed cover that secures the top of the valve body and
provides access to the packing for maintenance.
o Suitable Material: Cast Iron (Ductile Iron) or Cast Steel - These materials offer
sufficient strength and can be easily bolted or screwed to the valve body.
e Handwheel or Gear Operator: A mechanism attached to the spindle for manual operation of
the gate valve.
o Suitable Material: Cast Iron, Steel, or Ductile Iron - These materials offer adequate
strength for manual operation. Some valves may use stainless steel for the handwheel
for improved corrosion resistance.

Note: This is a general description, and the specific materials used for each component may vary
depending on the valve design, pressure rating, and manufacturer's specifications.

2. With reference Sitive dj cem p
(a) explain the need fi re valv w fitte (5
or a relj i
lief al e, Stﬂtl!‘lg where it ould be fitt d; )
(b) explain when a ulsatj r f |
b pulsation dampe 5
may i [
: P be fitted to the delwery line, stalillg how it
works (3)
Question 2. I'he question asks to explain why a relief valve is needed, it does not ask what a relief valve

does or how it works. Just stating that a positive displacement pump can deliver high pressure
is not an explanation. Just stating that the relief valve is on the delivery side of the pump is not
specific enough.

Positive Displacement Pumps and Ancillary Equipment

(a) Relief Valve:
Need for a Relief Valve:

Positive displacement pumps deliver a constant volume of fluid with each rotation regardless of the
discharge pressure. If the discharge pressure in the system exceeds the pump's design pressure
due to a blocked outlet, closed valve, or other restriction, it can cause several problems:



Full written solutions. Online tutoring and exam Prep www. SVEstudy.com
e Overload on Pump Components: Excessive pressure can put undue stress on the pump's

internal components like bearings, gears, or vanes, leading to premature wear and potential
failure.

e Pipe Rupture: The high pressure can exceed the pressure rating of the piping system, leading
to pipe bursts and potential safety hazards.

e Pump Damage: In extreme cases, very high pressure can cause permanent damage to the
pump housing or internal components.

Placement of Relief Valve:

To prevent these issues, a relief valve is installed on the discharge line of a positive displacement
pump. This valve acts as a safety mechanism by:

Sensing Pressure: The relief valve continuously monitors the pressure in the discharge line.
Pressure Relief: When the pressure exceeds a pre-set level (cracking pressure), the relief
valve opens, bypassing a portion of the flow back to the pump inlet (internal bypass) or to a
reservoir (external bypass).

e Pressure Regulation: By diverting excess flow, the relief valve helps to maintain the pressure
within the system at a safe operating level.

Typical Location:

The relief valve is typically installed as close to the pump discharge port as possible to minimize the
volume of the system exposed to excessive pressure in case of a pressure surge.

(b) Pulsation Damper:
Pulsation Damper Function:

Positive displacement pumps, due to their operating principle, can generate pulsating flow. This
means the flow rate is not constant but varies with each rotation of the pump's internal element (gear,
vane, piston, etc.). These pulsations can cause several problems in the piping system:

e Vibration and Noise: The pulsating flow can induce vibration in pipes and connected
equipment, leading to increased noise levels and potential fatigue failure in components.

e Pressure Spikes and Drops: The rapid changes in flow rate can translate to pressure spikes
and drops within the system, stressing components and potentially affecting the performance
of pressure-sensitive equipment.

Pulsation Damper Operation:

A pulsation damper is a device installed on the discharge line of a positive displacement pump to
mitigate these pulsations. It functions similarly to a shock absorber in a car:

e Bladder or Diaphragm: The pulsation damper typically contains a flexible bladder or
diaphragm that separates two chambers - a gas chamber pre-charged with an inert gas (e.g.,
nitrogen) and a fluid chamber connected to the discharge line.

e Energy Absorption: During the high-flow phase of the pump cycle, the pulsating pressure in
the fluid chamber compresses the gas in the gas chamber. The gas acts as a spring,
absorbing the excess energy of the pulsating flow.
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e Energy Release: During the low-flow phase of the pump cycle, the compressed gas in the gas

chamber expands, pushing fluid back into the discharge line and smoothing out the pulsations
in the flow rate.

Overall Effect: By absorbing and releasing the pulsating pressure, the pulsation damper helps to
create a more steady and consistent flow of fluid within the system. This reduces vibration, noise, and
pressure fluctuations, protecting components and improving overall system performance.

Note: The selection and sizing of a relief valve and pulsation damper depend on the specific pump
characteristics, system pressure rating, and desired performance outcomes.

3. With reference ¢ i
0 compressed air systems used for starting air and control purposes:
(a) state the Pressure used for starting air;
: | (1)
(b)  explain why the pressure Stated in part (a) is necessary;
. 3
(c) state the Pressure used for contro] ajr- .
(d) explai i .
plain why the pressure stated in part (c) is different to that stated in part (a); (3)
(e) explain why the i |
pressure stated i
the control equipment. i pén R e Sy
(2)

Compressed Air Systems for Starting and Control

(a) Starting Air Pressure:

The typical pressure used for starting air in compressed air systems can range from 25 bar (363 psi)
to 40 bar (580 psi). This can vary depending on the size and type of engine being started.

(b) Reason for High Starting Air Pressure:
High starting air pressure is necessary for overcoming the following challenges during engine startup:

e Overcoming Engine Compression: The engine pistons compress the air within the cylinders
as they rotate during startup. The starting air pressure needs to be high enough to overcome
this compression and force the pistons down to initiate the combustion cycle.

e Friction Losses: Friction exists between various moving parts within the engine during
startup. High starting air pressure ensures sufficient force to overcome these frictional losses
and crank the engine effectively.

e Low Engine Speed: Initially, the engine speed is low during startup. This reduces the air
intake efficiency, requiring a higher starting air pressure to deliver the necessary air volume for
combustion.

(c) Control Air Pressure:

The pressure used for control air in compressed air systems is typically much lower than starting air
pressure, ranging from 5 bar (73 psi) to 10 bar (145 psi). The specific pressure depends on the
control equipment being operated.
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(d) Reason for Different Pressures:

The pressure requirements for starting air and control air are different due to their distinct functions:

e Starting Air: Needs high pressure to overcome the high resistance encountered during
engine startup, as explained in part (b).

e Control Air: Operates various control equipment and actuators within the system. These
components typically require lower pressure to function effectively and efficiently. Using
excessively high pressure for control air can damage delicate components or lead to
over-actuation.

(e) Higher Control Air Pressure Than Minimum Requirement:

The control air pressure is typically chosen to be higher than the minimum pressure required to
operate the control equipment for a few reasons:

e Safety Margin: A higher pressure provides a buffer against pressure drops within the system
due to factors like long pipelines, bends, or leaks. This ensures reliable operation of the control
equipment even with some pressure loss.

e Accounting for Future Expansion: Maintaining a higher pressure allows for future expansion
of the control system with additional equipment that might require slightly higher pressure for
operation.

e Standardization: Standardized control air pressure levels are often used within facilities or
industries to simplify system design and component selection.

Even though a higher pressure ensures reliable operation, it's important to avoid excessively high
pressure that can waste energy and potentially damage control equipment. Choosing the optimal
control air pressure involves considering the specific needs of the equipment, potential pressure
losses, and overall system efficiency.

4. Sketch a hydraulic circuit using stand

o ard symbols showi ditant
pressure pump driving a bidirectional motor that js regﬁegd ; F o
operated direction valve. The motor sho ygneans ol ia manually

uld have pilot non-return valves as isolating valves. (10)

Hydraulic Circuit with Unidirectional Pump, Bidirectional Motor,
and Manual Direction Valve

This circuit uses a fixed displacement pump (unidirectional) to drive a bidirectional motor controlled by a
manually operated direction valve. Pilot non-return valves act as isolating valves for the motor.

Components (Standard Symbols):

P - Fixed Displacement Pump (Triangle with arrow pointing upwards)

PRV - Pressure Relief Valve (Triangle with spring on top)

M - Bidirectional Motor (Gear symbol with two arrows, one on each side)

LV1 - Pilot Non-Return Valve (Arrow pointing right with check valve symbol) - Installed on Line A to
Motor

e LV2 - Pilot Non-Return Valve (Arrow pointing left with check valve symbol) - Installed on Line B to
Motor
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e DVC - Manually Operated 4-Way, 3-Position Direction Control Valve (Square with two spools, center
position with blocked paths, other positions with connected paths)
e T - Reservoir (Rectangle)

Connections:

P outlet connects to the line feeding PRV.

PRV outlet connects to a line that splits into two paths.

One path connects to the inlet port of DVC.

The other path connects to the reservoir (T).

DVC has three positions: Center, Forward, and Reverse.

In the Center position, both paths from the pressure relief valve are blocked within the valve.

In the Forward position, the line from the pressure relief valve connects to the outlet port of DVC which

in turn connects to the inlet port of LV1 (Line A). The outlet of LV1 connects to Line A of the M.

8. In the Reverse position, the line from the pressure relief valve connects to the other outlet port of DVC
which connects to the inlet port of LV2 (Line B). The outlet of LV2 connects to Line B of the M.

9. The outlet of the M drains back to the reservoir (T).

Noobhowbdh=

Operation:

The pump continuously delivers pressurized fluid.
The pressure relief valve maintains a constant system pressure by bypassing excess flow back to the
reservoir.

e |n the Center position of the direction control valve, the motor is stopped because both lines to the
motor are blocked by the pilot non-return valves.

e In the Forward position, the pressurized fluid flows through DVC to LV1 and then to Line A of the
motor, causing it to rotate in one direction. The pilot non-return valve (LV2) on Line B prevents backflow
from the motor.

e In the Reverse position, the pressurized fluid flows through DVC to LV2 and then to Line B of the
motor, causing it to rotate in the opposite direction. The pilot non-return valve (LV1) on Line A prevents
backflow from the motor.

Notes:

This is a simple open-loop system. It lacks feedback on the motor's actual speed or position.
The pilot non-return valves act as isolating valves, allowing flow in one direction only and preventing
backflow when the motor is not energized.

e By manually operating the direction control valve, the operator can control the direction of the motor.

This circuit is suitable for applications requiring a simple and cost-effective method for controlling the direction
of a bidirectional motor using a constant pressure source.

5. With reference to steering gears, explain the meaning of EACH of the following:

(a) 100% redundancy;
(5

5)

(b)  single failure criteria.

Redundancy and Single Failure Criteria in Steering Gears

(a) 100% Redundancy:
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In the context of steering gears, 100% redundancy refers to a system design where complete

steering functionality can be maintained even if a single component within a primary system fails.
This essentially means having a complete backup system capable of taking over when the main
system experiences an issue.

Here are some ways 100% redundancy can be achieved in steering gears:

e Dual Electro-Hydraulic Systems: Two independent electro-hydraulic circuits power separate
rams, each capable of moving the rudder alone. If one circuit fails, the other can still steer the
vessel.

e Dual Pumps and Reservoirs: Two separate pumps and reservoirs supply hydraulic fluid to
the steering rams, ensuring continued operation even if one pump or reservoir fails.

e Dual Telemotor Systems: Two independent electronic control systems operate separate
hydraulic valves. If one telemotor system fails, the other can still control the steering gear.

(b) Single Failure Criteria:

The single failure criteria is a principle applied in designing safety-critical systems, including steering
gears. It states that the system should be designed to remain operational even if a single component
failure occurs. This ensures the vessel retains some degree of maneuverability and avoids a
complete loss of steering control.

Here's how the single failure criteria relates to 100% redundancy:

e A system designed with 100% redundancy inherently fulfills the single failure criteria. With a
complete backup system, a single component failure within the primary system doesn't render
the entire steering gear inoperable.

e \When designing a steering gear, engineers consider various potential failure points (pumps,
valves, pipes) and incorporate redundancy measures to ensure continued operation despite
any single failure.

The single failure criteria plays a crucial role in ensuring the safety of the vessel and its crew. By
designing steering gears to meet this criteria, the risk of losing steering control due to a single
component failure is significantly reduced.

6. Describe the advantages of
propulsion, %

Here are some advantages of using water jets instead of conventional propellers for vessel
propulsion:

Performance:

e High Speed: Water jets excel in applications requiring high speeds. Since they operate
unimpeded by a protruding propeller, they experience less drag, allowing vessels to reach
higher speeds compared to propeller-driven counterparts.
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e Shallow Draft: Water jets have a shallow water intake, making them ideal for navigating in

shallow rivers, canals, or near coastlines with varying depths. Propellers, on the other hand,
risk damage if they operate in shallow waters.

e Improved Maneuverability: Water jets offer superior maneuverability due to their ability to
direct the water flow through a deflection mechanism. This allows for quick changes in
direction and precise maneuvering in tight spaces, like harbors or during docking procedures.

e Reduced Cavitation: Cavitation, the formation and collapse of vapor bubbles around a
propeller blade, can cause noise, vibration, and damage to the propeller. Water jets
experience less cavitation because the water intake is located below the hull, away from the
air-water interface.

Safety and Operational Benefits:

e Safer for Swimmers and Marine Life: With no exposed propeller blades, water jets pose a
lower risk of injury to swimmers or marine life that might come into contact with the vessel.

e Reduced Noise Levels: Water jets generally operate quieter than propellers, making them
suitable for noise-sensitive environments or research vessels requiring minimal acoustic
disturbance.

e Lower Maintenance: Water jets typically require less maintenance compared to propellers.
They have fewer moving parts and are less susceptible to damage from debris or underwater
collisions.

Other Advantages:

o Improved Fuel Efficiency: In some cases, water jets can offer improved fuel efficiency,
particularly at high speeds. This is because they can convert more engine power into thrust
compared to propellers that lose some efficiency due to drag.

e Reversible Thrust: Some water jet designs incorporate a reversing mechanism that allows for
immediate thrust reversal. This can be helpful for quick stops and precise maneuvering.

However, it's important to consider some drawbacks of water jets as well:

e Higher Initial Cost: Water jets are generally more expensive to purchase and install
compared to conventional propellers.

e Lower Efficiency at Low Speeds: While efficient at high speeds, water jets might be less
efficient at lower speeds compared to propellers.

e Higher Complexity: The design and operation of water jets can be more complex compared
to propellers, requiring specialized training for maintenance and repairs.

Overall, water jets offer significant advantages in terms of performance, maneuverability, safety, and
noise reduction. However, their higher initial cost, lower efficiency at low speeds, and increased
complexity need to be factored in when deciding between water jets and propellers for a particular
vessel application.

Question 6.  Many simply state advantages — the question says ‘describe’. Many of the advantages claimed
could be equally applied to CPP’s and D/E drives, both of which are now considered
conventional.
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7. (a)  Sketch a flexible coupling that could be used for a main propulsion drive. (7)

(b)  State THREE reasons for using a flexible coupling in propulsion drives. 3)

Flexible Couplings for Main Propulsion Drives

(a) Flexible Coupling for Main Propulsion:

A common type of flexible coupling used for main propulsion drives is a gear-type flexible coupling.
Here's a breakdown of its components and function:

e Gear Teeth: Each half of the coupling has interlocking gear teeth machined onto its outer
circumference. These gear teeth are not designed for transmitting high torque like gears in a
transmission, but rather to allow for some degree of misalignment between the shafts.

e Elastomeric Sleeve: A flexible elastomeric sleeve (often made from high-strength
polyurethane or rubber) is sandwiched between the gear teeth of the two halves. This sleeve
provides the flexibility needed to accommodate misalignment.

How it Works:

As the shafts rotate, the gear teeth on one half of the coupling mesh with the teeth on the other half.
However, the elastomeric sleeve allows for slight relative movement between the two halves,
accommodating:

e Angular Misalignment: This occurs when the shafts are not perfectly aligned along the same
axis.

e Parallel Misalignment: This occurs when the shafts are not perfectly parallel but slightly
offset.

e Axial Misalignment: This occurs when there is a slight axial (end-to-end) movement between
the shafts.

(b) Reasons for Using Flexible Couplings in Propulsion Drives:
There are three main reasons for using flexible couplings in propulsion drives:

1. Accommodate Misalignment: Engine and gearbox alignment can be challenging to achieve
perfectly, and slight misalignment can occur due to thermal expansion or hull flexing. Flexible
couplings allow for some misalignment, preventing excessive loads and wear on bearings and
shaft components.

2. Dampen Vibration: Marine engines and propellers can generate vibrations. Flexible
couplings with elastomeric elements can help to dampen these vibrations, reducing noise and
protecting other components from fatigue.

3. Protect from Overload: In some cases, sudden shock loads or overloads might occur in the
drivetrain. The elastomeric element in a flexible coupling can absorb some of this shock,
protecting the engine, gearbox, and propeller shaft from damage.

Additional Notes:
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e While offering advantages, flexible couplings typically have a lower torque capacity compared

to some rigid couplings.

The specific design and material selection of the flexible coupling will depend on the power output of
the engine and the specific application.

8. (a) Explain how propeller thrust is transmitted to a vessel's hull. (3)
(b)  Describe the mounting arrangements of a thrust block to the hull. 4)
(¢)  Explain why the clearance between the thrust block pads and collar is critical. (3)

Propeller Thrust Transmission and Thrust Block Mounting:

(a) How Propeller Thrust is Transmitted to the Vessel's Hull:

The propeller, rotating underwater, generates thrust as it pushes water backwards. Here's how this
thrust is transmitted to the vessel's hull:

1. Propeller Shaft: The rotating propeller is connected to a long shaft that runs through the stern
tube of the vessel. This shaft is supported by bearings within the stern tube.

2. Thrust Block: At the forward end of the propeller shaft, inside the hull, there's a specialized
bearing called a thrust block. This thrust block absorbs the axial thrust force generated by the
propeller.

3. Hull Structure: The thrust block is securely mounted to the strong, transverse bulkheads or
the keel of the vessel's hull. This transmits the propeller thrust force from the shaft to the entire
hull structure, propelling the vessel forward.

(b) Thrust Block Mounting Arrangements:

The specific mounting arrangement of a thrust block will vary depending on the size and design of the
vessel. However, here are some general principles:

1. Solid Foundation: The thrust block needs a robust and rigid foundation to handle the
significant thrust forces. This is typically achieved by mounting it directly onto the main
transverse bulkheads or the keel plate of the vessel.

2. Hold-Down Bolts: The thrust block is secured to the hull structure using high-tensile
hold-down bolts. These bolts are carefully tightened to a specific torque value to ensure the
thrust block can withstand the forces without movement.

3. Chocks and Wedges (Optional): In some cases, additional support structures like chocks or
wedges might be used around the thrust block to provide extra stability and prevent lateral
movement.

4. Grouting (Optional): For some thrust block designs, epoxy grouting material might be used
to fill any gaps between the block and the hull structure. This further enhances rigidity and
ensures proper load distribution.

(c) Why Clearance Between Thrust Block Pads and Collar is Critical:

The clearance between the thrust block pads (typically made from white metal or lined steel) and the
thrust collar on the propeller shaft is crucial for several reasons:
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e Minimizing Friction: Excessive clearance would allow for unnecessary movement between
the shaft and the pads, increasing friction and wear. However, too little clearance could cause
binding and hinder smooth shaft rotation.

e Lubrication: A proper clearance allows for a thin film of lubricant (oil or water) to form
between the pads and the collar. This lubrication film reduces friction and wear while enabling
efficient heat dissipation.

e Thermal Expansion: As the engine operates, the propeller shaft and thrust block
components will experience some thermal expansion. The proper clearance accommodates
this expansion without binding or excessive wear.

e Vibration Control: Maintaining the correct clearance helps dampen vibrations that might be
transmitted from the propeller shaft to the hull structure.

Maintaining the optimal clearance is crucial for the efficient and reliable operation of the propulsion
system. Regular inspections and adjustments of the thrust block and shaft components are essential
to ensure proper clearance and minimize wear.

9. Sketch a Direct-On-Line starter for a small, three phase, a.c. motor, labelling all
components. (10)

A Direct-On-Line (DOL) starter is a simple and common method for starting small, three-phase AC motors.
Here's a breakdown of its components:

Main Circuit:

1. Disconnect Switch (Optional): This is a manually operated switch that allows complete isolation of
the motor from the power supply for maintenance or safety purposes. It's not always present in every
DOL starter setup.

2. Motor Circuit Breaker (MCB): This is a protective device that automatically cuts off power to the motor
in case of overload or short circuit. It protects the wiring and motor from damage.

3. Contactor: This is the heart of the DOL starter. It's a magnetically operated switch that connects the
motor to the power line. When energized, a coil within the contactor creates a magnetic field that pulls
in a contactor arm, closing the contacts and supplying full line voltage to the motor.

4. Three-Phase Power Supply: This is the source of electrical power for the motor. It typically consists of
three live conductors (L1, L2, L3) and a possible neutral or ground conductor.

5. Motor: This is the three-phase AC motor that the starter controls.

Control Circuit:

1. Start Push Button: This is a momentary push button used to initiate the starting sequence. Pressing
the button energizes the contactor coil.

2. Stop Push Button: This is a momentary push button used to de-energize the contactor coil, stopping
the motor.

3. Normally Closed (NC) Contacts of the Overload Relay: These are contacts within a separate
overload relay device that are wired in series with the contactor coil. The overload relay monitors the
motor current and opens its contacts if it detects an overload condition. This interrupts the power to the
contactor coil, stopping the motor.

4. Control Circuit Power Supply: This is a low voltage source (often 24V DC) that powers the control
circuit components like push buttons and the contactor coil.

Optional Components:
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e Pilot Light: This can be added to the control circuit to indicate if the motor is running (contactor
energized).
e Timer Relay: This can be used to introduce a delay between stopping the motor and restarting it to
prevent overheating.

Operation:

1. The operator presses the start button, energizing the contactor coil.

2. The contactor coil creates a magnetic field that closes the main contacts, connecting the three-phase

power supply directly to the motor terminals.

The motor starts to run.

The overload relay continuously monitors the motor current.

5. If the motor current exceeds a safe limit for an extended period, the overload relay opens its NC
contacts, interrupting the power supply to the contactor coil.

6. The contactor de-energizes, opening the main contacts and disconnecting the motor from the power
line.

7. The operator presses the stop button to manually stop the motor, which functions similarly to an
overload trip by de-energizing the contactor coil.

il

Benefits of DOL Starters:

e Simple and cost-effective design
e FEasy to install and maintain
e Suitable for small motors with low starting current demands

Limitations of DOL Starters:

e High inrush current during motor startup can cause voltage dips and stress on the power supply.
e Not suitable for larger motors due to high inrush currents.

()

10. (a) State the requirements for connnecting a 3-phase generator to live busbars. (3)
(b) Sketch a ion di isi i i
s oc;?:.necmn diagram for synchronising lamps, stating when synchronisation
(c) State what occurs if synchronising is incorrect when connecting to the busbars (1)
(d)  State the possible consequence of incorrect synchronising,

(D
Connecting a 3-Phase Generator to Live Busbars:

(a) Requirements:

Connecting a 3-phase generator to live busbars is a critical and potentially dangerous task. Here are some
essential requirements:

e Safety First: Ensure the entire system is de-energized and properly locked out before any connections
are made.

e Matching Voltage and Frequency: The generator's voltage and frequency must precisely match the
existing busbar voltage and frequency. Even slight mismatches can cause damage.

e Phase Sequence Synchronization: The phase sequence (order of voltage peaks) of the generator
must be synchronized with the busbars. Incorrect phase sequence can lead to severe damage.
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e Protective Devices: Proper protective devices like circuit breakers and synchronizing relays should be
used to ensure safe connection and prevent faults.
e Qualified Personnel: Only qualified electricians with training and experience in synchronizing
generators should perform the connection.

(b) Synchronizing Lamps:

A connection diagram for synchronizing lamps typically includes three lamps, one for each phase. Each lamp
is connected between a corresponding phase conductor of the generator and the busbar. The brightness of the
lamps indicates the phase difference between the two systems.

Synchronization should occur when:

e The lamps are all dark or equally bright. This indicates the voltage magnitudes are equal and phases
are in sync.

e The lamps flicker at a slow and steady rate. This signifies the voltage magnitudes are close, but the
phases are not quite aligned. A slight adjustment to the generator speed will achieve synchronization.

(c) Incorrect Synchronization:
If synchronization is incorrect when connecting to the busbars, several issues can arise:

e High Circulating Currents: Phase mismatch can cause large circulating currents between the
generator and the busbars, leading to overheating and potential damage to equipment.

e Voltage and Frequency Instability: The combined system voltage and frequency can become
unstable, affecting connected loads.

e Mechanical Damage: In severe cases, incorrect synchronization can cause mechanical stress on the
generator shaft and connected equipment.

(d) Possible Consequences of Incorrect Synchronization:
Incorrect synchronization can have serious consequences, including:

e Equipment Damage: Overheating, burning of components, and even generator or motor failure can
OCCuUr.

e Power System Instability: Voltage and frequency fluctuations can disrupt other loads connected to
the busbars.

e Safety Hazards: Arcing and potential short circuits pose safety risks to personnel and equipment.

Remember: Synchronization is a crucial step for safe and reliable connection of a generator to live busbars.
Always prioritize safety and consult qualified personnel for this task.



